ANSWER KEY

ACTIVITY 1: Set Me to Your Standard

0 00 =1 On A Bl B e

ANSWER
Im+8=15 BLUFF
x2-5x+10=10 FACT
12-4x=0 BLUFF
262 -7t =12 FACT
6—2x+3x2=0 FACT
25 —r? = 4r—5r2 4+ 10 FACT
3x(x = 2) = =7 FACT
2h(h—6) = 2h + 3 FACT
(x+2)7 =0 FACT
10. (w — B)(w + 5) = 14 + w? BLUFF
ACTIVITY 2: Work on this!
Quadratic | Linear Constant
erm erm \ s
. x*=x=-3=0 X _IC().\}Y\
_h\e.
2, 5x2-2x-9=10 V&Oﬁeb —2x -9
3, 2s2 _GW i!@i a 62(5& i" —dg -
‘E Ed. Jx® + 4x = —éE 3x? dx 2
5. x*=x=3 x4 —X -3
6, 2x2—Sy=x? +2x—1 by -7x 1
7. x(Zx+3)=5=6x 2xd —3x -5
B 2m-1Dm+3)=3 2m* Sm -6
9. (x+1F =1 X 2x 0
10, 3x(2x + 1) = 3x - 12 X3 0 :




